## Research Article

# **Asymptotic Stability of Differential Equations** with Infinite Delay

# D. Piriadarshani<sup>1</sup> and T. Sengadir<sup>2</sup>

<sup>1</sup> Department of Mathematics, Hindustan Institute of Technology and Science, Rajiv Gandhi Salai, Kelambakkam, Chennai 603 103, India

<sup>2</sup> Department of Mathematics, Central University of Tamil Nadu, Thiruvarur 610 004, India

Correspondence should be addressed to D. Piriadarshani, piriadarshani@gmail.com

Received 3 January 2012; Accepted 5 April 2012

Academic Editor: Mehmet Sezer

Copyright © 2012 D. Piriadarshani and T. Sengadir. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

A theorem on asymptotic stability is obtained for a differential equation with an infinite delay in a function space which is suitable for the numerical computation of the solution to the infinite delay equation.

#### **1. Introduction and Preliminaries**

In this paper, we study the asymptotic stability of the solutions to the infinite delay differential equation given below:

$$\begin{aligned} x'(t) &= ax(t) + \sum_{i=1}^{\infty} b_i x(t - \tau_i), \quad t \ge 0, \\ x(\theta) &= \phi(\theta), \quad \theta \in (-\infty, 0], \end{aligned}$$
(1.1)

under the following assumptions.

- (i) There exists p > 0 with  $|b_i| \le p\gamma^{-i}$  for all  $i \in \mathbb{N}$ .
- (ii)  $\tau_i \leq i\tau_1$  for all  $i \in \mathbb{N}$ .

The asymptotic stability of a linear infinite delay equation is studied in [1–5] in the context of abstract phase spaces which includes the space:

$$\left\{\phi \in \mathbf{C}(-\infty,0] : \sup_{\theta \in (-\infty,0]} e^{\gamma\theta} |\phi(\theta)| < \infty, \lim_{\theta \to \infty} e^{\gamma\theta} \phi(\theta) \text{ exists}\right\}.$$
(1.2)

The asymptotic constancy neutral equations are studied in [6]. Linear time-invariant systems with constant point delays are studied in [7] and in [8]; a Razumikhin approach is used to study exponential stability of delay equations. Asymptotic stability and stabilization of linear delay-differential equations are studied in [9].

In this paper, the phase space  $C_{\sigma}(-\infty, 0]$  for the initial function is chosen as follows. Let  $m_i = i\tau_1 > 0$  and  $\beta_i = p\gamma^{-i}$ . The space  $C_{\sigma}(-\infty, 0]$  is defined as

$$\left\{\phi \in \mathbf{C}(-\infty, 0] : \sum_{i=1}^{\infty} \beta_i \sup_{\theta \in [-m_i, 0]} |\phi(\theta)| < \infty\right\}.$$
(1.3)

Here  $C(-\infty, 0]$  is the set of continuous complex valued functions defined on  $(-\infty, 0]$ .

The motivation to consider the above type of phase space is that for numerical computation of solutions it is enough to know the values of the initial data over a finite domain at every stage of computation. See [10, 11].

The following definitions and results are well known, see for example [5] or [12].

*Definition 1.1.* The Kuratowski measure of noncompactness  $\alpha(V)$  of the subset *V* of a Banach space *X* is defined by

$$\alpha(V) = \inf \left\{ d > 0 : \text{ there exists a finite number of sets } V_1, V_2, \dots, V_n, \\ \text{with diam } V_j \le d \text{ such that } V = \cup_{i=1}^n V_i \right\}.$$
(1.4)

For a bounded linear operator  $L: X \to Y$ ,  $|L|_{\alpha}$  is defined as

$$|L|_{\alpha} = \inf\{k > 0 : \alpha(L(V)) \le k\alpha(V) \text{ for all bounded sets } V\}.$$
(1.5)

**Proposition 1.2.** Let X, Y, Z be Banach spaces and  $M : X \to Y$ ,  $L : Y \to Z$  be bounded linear operators. Then,  $|M \circ L|_{\alpha} \leq |M|_{\alpha}|L|_{\alpha}$ . Further, if  $M : X \to Y$  is compact, then  $|M|_{\alpha} = 0$ .

**Theorem 1.3.** Let X be a Banach space and let  $A : \mathbf{D}(A) \to X$  be the infinitesimal generator of a semigroup of operators  $S_t : X \to X$ . Then, the growth bound of the semigroup  $\omega_0$  defined as

$$\omega_0 = \lim_{t \to \infty} \frac{1}{t} \ln(\|S_t\|) = \inf\{\omega : \exists M \ge 1 \text{ such that } \|S_t\| \le M e^{\omega t}\},\tag{1.6}$$

is given by

$$\omega_0 = \max\{s(A), \omega_{\text{ess}}\},\tag{1.7}$$

Journal of Applied Mathematics

where  $s(A) = \sup\{\Re(\lambda) : \lambda \in \operatorname{spec}(A)\}$  and

$$\omega_{\rm ess} = \lim_{t \to \infty} \frac{1}{t} \ln(|S_t|_{\alpha}). \tag{1.8}$$

In Theorem 1.3, spec(*A*) is the compliment of the resolvent set  $\rho(A)$  which is the set of all  $\lambda \in \mathbb{C}$  such that the operator  $\lambda I - A$  is one-one and onto and  $(\lambda I - A)^{-1}$  is a bounded linear map.

For a real number r,  $[r] = \max\{n \in \mathbb{Z} : n \le r\}$  and  $[r] = \min\{n \in \mathbb{Z} : n \ge r\}$ . We will make use of the observation  $[r] \le [r] \le r + 1$  for  $r \in \mathbb{R}$ .

### 2. Asymptotic Stability of a PDE

Consider the following simple initial boundary value problem for a PDE:

$$\frac{\partial u}{\partial t} = \frac{\partial u}{\partial \theta}, \quad t \ge 0, \ \theta \le 0,$$

$$u(t,0) = 0, \quad t \ge 0,$$

$$u(0,\theta) = u_0(\theta), \quad \theta \le 0,$$
(2.1)

where  $u_0 \in \mathbf{C}_{\sigma,0}(-\infty, 0] = \{ u \in \mathbf{C}_{\sigma}(-\infty, 0] : u(0) = 0 \}.$ 

Its mild solution is given by the semigroup  $T_t : C_{\sigma,0}(-\infty, 0] \to C_{\sigma,0}(-\infty, 0]$  defined as

$$T_t u_0(\theta) = u_0(t+\theta), \quad t+\theta < 0$$
  
= 0,  $t+\theta \ge 0.$  (2.2)

**Proposition 2.1.** Let  $m_i = i\tau_1$  and  $\beta_i = p\gamma^{-i}$ . The infinitesimal generator of the semigroup defined by (2.2) is given by  $B : \mathbf{D}(B) \to \mathbf{C}_{\sigma,0}(-\infty, 0]$ ,  $B\phi = \phi'$ , where

$$\mathbf{D}(B) = \left\{ \phi \in \mathbf{C}_{\sigma,0}(-\infty,0] : \phi' \in \mathbf{C}_{\sigma,0}(-\infty,0] \right\}.$$
(2.3)

*Further*,  $\rho(B) = \{\lambda : \Re(\lambda) > -\ln \gamma / \tau_1\}.$ 

Besides, if  $\Re(\lambda) > -\ln \gamma / \tau_1$ , then  $e_{\lambda} \in \mathbf{C}_{\sigma}(-\infty, 0]$  and for every  $f \in \mathbf{C}_{\sigma}(-\infty, 0]$ , h defined as  $h(\theta) = \int_0^{\theta} e^{\lambda(\theta-\xi)} f(\xi) d\xi$  and  $e_{\lambda}$  defined as  $e_{\lambda}(\theta) = e^{\lambda\theta}$  are elements of  $\mathbf{C}_{\sigma}(-\infty, 0]$ . Finally, for the semigroup  $T_t$  defined in (2.2),  $\omega_0 = -\ln \gamma / \tau_1$ .

*Proof.* Since  $\theta \in [-i\tau_1, 0] \Rightarrow t + \theta \in [-i\tau_1, t]$ ,

$$\sup_{\theta \in [-i\tau_1,0]} |T_t \phi(\theta)| \le \sup_{\theta \in [-i\tau_1,0]} |\phi(\theta)|,$$
(2.4)

and hence  $||T_t||_{\sigma} \leq 1$ ,  $T_{t+s} = T_t T_s$  is obvious, then

$$\lim_{t \to 0} \left\| T_t \phi - \phi \right\|_{\sigma} = 0 \tag{2.5}$$

can be proved using Proposition 1.9 of [10]. The proof that *B* is the infinitesimal generator of  $T_t$  is also easy.

Note that  $\lambda = 0$  trivially satisfies  $\Re(\lambda) > -\ln \gamma/\tau_1$ . Let  $0 \neq \lambda \in \rho(B)$ . Define  $\phi$ , as  $\phi(\theta) = \theta$ . Since  $\sum_{i=1}^{\infty} p\gamma^{-i} < \infty$ ,  $\phi \in \mathbf{C}_{\sigma,0}(-\infty,0]$  and hence there is a unique  $\psi \in \mathbf{D}(B)$ , such that  $\lambda \psi - \psi' = \phi$ . Indeed,  $\psi = (\lambda I_0 - B)^{-1}\phi$ . Here,  $I_0$  is the identity on  $\mathbf{C}_{\sigma,0}(-\infty,0]$ . Let us note that  $\psi(0) = 0$ . Now, we find that  $\psi_1$ , defined as  $\psi_1(\theta) = \theta/\lambda + (1/\lambda^2)(1 - e^{\lambda\theta})$  is the unique continuously differentiable function such that  $\lambda \psi_1 - \psi'_1 = \phi$  and  $\psi_1(0) = 0$ . From this we infer that  $\psi_1 = (\lambda I_0 - B)^{-1}\phi$  and hence  $\psi_1 \in \mathbf{C}_{\sigma,0}(-\infty,0]$ . Now, since  $\phi \in \mathbf{C}_{\sigma,0}(-\infty,0]$ , we obtain  $(1 - e_{\lambda}) \in \mathbf{C}_{\sigma,0}(-\infty,0] \subseteq \mathbf{C}_{\sigma}(-\infty,0]$ . Since the constant function 1 is an element of  $\mathbf{C}_{\sigma}(-\infty,0]$ ,  $e_{\lambda} \in \mathbf{C}_{\sigma}(-\infty,0]$ . Noting that  $-\ln \gamma/\tau_1 = \inf{\Re(\lambda) : e_{\lambda} \in \mathbf{C}_{\sigma}(-\infty,0]}$ , we obtain  $\Re(\lambda) > -\ln \gamma/\tau_1$ .

Let  $t \ge \tau_1$ . It is clear that for all  $i \le \lfloor t/\tau_1 \rfloor$ , and  $\theta \in [-i\tau_1, 0]$ ,  $T_t\phi(\theta) = 0$ . For  $i > \lfloor t/\tau_1 \rfloor$ , and  $\theta \in [-i\tau_1, 0]$ , we have  $t + \theta \ge t - i\tau_1 \ge -(i - \lfloor t/\tau_1 \rfloor)\tau_1$ . Thus,

$$\sup_{\theta \in [-i\tau_1,0]} |T_t \phi(\theta)| \leq \sup_{\theta \in [-i\tau_1,0]} |\phi(t+\theta)|$$
  
$$\leq \sup_{\theta \in [-i-\lfloor t/\tau_1 \rfloor \tau_1,0]} |\phi(\theta)|.$$
(2.6)

Hence

$$\begin{split} \|T_{t}\phi\|_{\sigma} &\leq \sum_{i=1}^{\infty} \|\beta_{i}\| \sup_{\theta \in [-i\tau_{1},0]} |T_{t}\phi(\theta)| \\ &\leq \sum_{i=\lfloor t/\tau_{1}\rfloor+1}^{\infty} \|\beta_{i}\| \sup_{\theta \in [-i-\lfloor t/\tau_{1}\rfloor\tau_{1},0]} |\phi(\theta)| \\ &\leq \sum_{i=\lfloor t/\tau_{1}\rfloor+1}^{\infty} |\beta_{i-\lfloor t/\tau_{1}\rfloor}| \frac{|\beta_{i}|}{|\beta_{i-\lfloor t/\tau_{1}\rfloor}|} \sup_{\theta \in [-i-\lfloor t/\tau_{1}]\tau_{1},0]} |\phi(\theta)| \\ &\leq \sup_{i>\lfloor t/\tau_{1}\rfloor} \frac{|\beta_{i}|}{|\beta_{i-\lfloor t/\tau_{1}\rfloor}|} \sum_{i=\lfloor t/\tau_{1}\rfloor+1}^{\infty} \sup_{\theta \in [-i-\lfloor t/\tau_{1}]\tau_{1},0]} |\beta_{i-\lfloor t/\tau_{1}\rfloor}| |\phi(\theta)| \\ &\leq \sup_{i>\lfloor t/\tau_{1}\rfloor} \frac{|\beta_{i}|}{|\beta_{i-\lfloor t/\tau_{1}\rfloor}|} \|\phi\|_{\sigma} \\ &\leq \sup_{i>\lfloor t/\tau_{1}\rfloor} \frac{\gamma^{-i}}{|\gamma^{-i+\lfloor t/\tau_{1}\rfloor}|} \|\phi\|_{\sigma} \\ &\leq \gamma^{-\lfloor t/\tau_{1}\rfloor} \|\phi\|_{\sigma}. \end{split}$$

Hence, the operator norm  $||T_t||_{\sigma} \leq \gamma^{-\lfloor t/\tau_1 \rfloor}$ .

To prove the equality, we construct a function  $\eta \in \mathbf{C}_{\sigma,0}(-\infty,0]$  such that  $||T_t\eta||_{\sigma} = \gamma^{-\lfloor t/\tau_1 \rfloor} ||\eta||_{\sigma}$  and the result follows.

Let  $\delta = (\lfloor t/\tau_1 \rfloor + 1)\tau_1 - t = \tau_1(\lfloor t/\tau_1 \rfloor + 1 - t/\tau_1)$ . We have,  $\delta < \tau_1$ . Define,

$$\eta(\theta) = \frac{-\theta}{\delta}, \quad -\delta \le \theta \le 0$$
  
= 1,  $\theta < -\delta.$  (2.8)

Journal of Applied Mathematics

It is clear that  $\|\eta\|_{\sigma} = \sum_{i=1}^{\infty} p \gamma^{-i}$ , Now,

$$T_t \eta(\theta) = -\left(\frac{\theta + t}{\delta}\right), \quad (-\delta - t) \le \theta \le -t$$
  
= 1,  $\theta < -\delta - t.$  (2.9)

Thus  $||T_t\eta||_{\sigma} = p \sum_{i=\lfloor t/\tau_1 \rfloor+1}^{\infty} \gamma^{-i}$ . Hence,  $||T_t\eta||_{\sigma} = \gamma^{-\lfloor t/\tau_1 \rfloor} ||\eta||_{\sigma}$ . Now,  $\omega_0 = \lim_{t\to\infty} (1/t) \ln(||T_t||_{\sigma}) = -\ln(\gamma)/\tau_1$ . Let  $\Re(\lambda) > -\ln \gamma/\tau_1$ . Since

$$\begin{aligned} \left\| (\lambda I_0 - B)^{-1} g \right\|_{\sigma} &= \left\| \int_0^{\infty} e^{-\lambda t} T_t g dt \right\|_{\sigma} \\ &\leq \int_0^{\infty} e^{-\Re(\lambda)t} \| T_t g \|_{\sigma} dt \\ &\leq \int_0^{\infty} e^{-\Re(\lambda)t} e^{\omega_0 t} \| g \|_{\sigma} dt = \int_0^{\infty} e^{(\omega_0 - \Re(\lambda))t} \| g \|_{\sigma} dt \\ &\leq \int_0^{\infty} e^{(-\ln(\gamma)/\tau_1 - \Re(\lambda))t} \| g \|_{\sigma} dt, \end{aligned}$$

$$(2.10)$$

we have  $\lambda \in \rho(B)$ .

Let  $f \in \mathbf{C}_{\sigma}(-\infty, 0]$ . Define  $g(\theta) = f(\theta) - f(0)$ . Then  $g \in \mathbf{C}_{\sigma,0}(-\infty, 0]$ . Let  $\psi = (\lambda I_0 - B)^{-1}g$ . We have,  $\psi(0) = 0$ . Define  $\psi_1(\theta) = -\int_0^{\theta} e^{\lambda(\theta-\xi)} g(\xi)d\xi$ . Now  $\psi_1(0) = 0$  and  $\psi'_1(0) = 0$ . By the uniqueness of the solution to the initial value problem of the ODE:

$$\begin{aligned} \lambda \psi - \psi' &= g, \\ \psi(0) &= 0, \end{aligned} \tag{2.11}$$

it is now obvious that  $\psi_1 = \psi$  and hence  $\psi_1 \in \mathbf{C}_{\sigma,0}(-\infty, 0]$ .

Now,

$$\int_{0}^{\theta} e^{\lambda(\theta-\xi)} g(\xi) d\xi = \int_{0}^{\theta} e^{\lambda(\theta-\xi)} \left[ f(\xi) - f(0) \right] d\xi = \int_{0}^{\theta} e^{\lambda(\theta-\xi)} f(\xi) d\xi + \frac{1}{\lambda} \left( 1 - e^{\lambda\theta} \right) f(0).$$
(2.12)

Since  $1 - e_{\lambda} \in \mathbf{C}_{\sigma,0}(-\infty,0]$ ,  $h \in \mathbf{C}_{\sigma,0}(-\infty,0] \subset \mathbf{C}_{\sigma}(-\infty,0]$ , where h is defined as  $h(\theta) = \int_{0}^{\theta} e^{\lambda(\theta-\xi)} f(\xi) d\xi$ .

### 3. Stability of the Infinite Delay Equation

The proof of the next theorem assuring the existence of a unique solution to (1.1) is similar to the proof of Theorem 2.2 of [10].

**Theorem 3.1.** Let  $a \in \mathbb{R}$  and the sequences  $b_i$  and  $\beta_i$  be as in Section 1. Assume that  $\tau_i \leq i\tau_1$ . Then there exists a unique solution  $x : \mathbb{R} \to \mathbb{R}$  to (1.1) such that its restriction to  $[0, \infty)$ , denoted by y, is in  $\mathbf{C}^1[0, \infty)$ . Further, for any  $t \in [0, \infty)$ , there is a constant c(t) > 0 such that

$$\sup_{s\in[0,t]} |y(s)| \le c(t) \|\phi\|_{\sigma}.$$
(3.1)

In addition, the family of operators  $\{S_t : t \ge 0\}$  defined as

$$S_t \phi(\theta) = x(t+\theta), \quad t+\theta \ge 0$$
  
=  $\phi(t+\theta), \quad t+\theta < 0$  (3.2)

forms a semigroup. Also, the infinitesimal generator of  $S_t$  is given by  $A : \mathbf{D}(A) \to \mathbf{C}_{\sigma}(-\infty, 0]$ , where

$$\mathbf{D}(A) = \left\{ \phi \in \mathbf{C}_{\sigma}(-\infty, 0] : \phi' \in \mathbf{C}_{\sigma}(-\infty, 0], \ \phi'(0) = a\phi(0) + \sum_{i=1}^{\infty} b_i \phi(-\tau_i) \right\}$$

$$A\phi = \phi'.$$
(3.3)

Further, D(A) is dense and A is a closed operator.

**Theorem 3.2.** For the semigroup  $S_t$  defined by (3.2)

$$|S_t|_{\alpha} \le \gamma^{-\lfloor t/\tau_1 \rfloor}.\tag{3.4}$$

Further, assume that  $a + \sum_{i=1}^{\infty} b_i \neq 0$ . Then for the generator of the semigroup  $S_t$  defined by (3.3) and

$$\operatorname{spec}\left(A\right) = \left\{\lambda : \Re(\lambda) \le -\frac{\ln(\gamma)}{\tau_1}\right\} \cup \left\{\lambda : \Re(\lambda) > -\frac{\ln(\gamma)}{\tau_1} : \lambda = a + \sum_{i=1}^{\infty} b_i e^{-\lambda \tau_i}\right\}.$$
(3.5)

Besides, suppose that for any  $\lambda \in \mathbb{C}$  with  $\lambda = a + \sum_{i=1}^{\infty} b_i e^{-\lambda \tau_i}$ , we have  $\Re(\lambda) < -\mu_1$  for some  $\mu_1 > 0$ . Then, the semigroup  $S_t$  is asymptotically stable.

*Proof.* Let  $T_t$  be as in Proposition 2.1. Fix t > 0. Define  $V_t : \mathbf{C}_{\sigma}(-\infty, 0] \to \mathbf{C}_{\sigma}(-\infty, 0]$  as

$$V_t \phi(\theta) = 0, \quad t + \theta \ge 0$$
  
=  $\phi(t + \theta) - \phi(0), \quad t + \theta < 0.$  (3.6)

Journal of Applied Mathematics

Define  $K_t : \mathbf{C}[0, t] \to \mathbf{C}_{\sigma}(-\infty, 0]$  as

$$[K_t z](\theta) = z(t+\theta) - z(0), \quad t+\theta \ge 0$$
  
= 0,  $t+\theta < 0.$  (3.7)

It is easy to see that

$$\|K_t z\|_{\sigma} \le 2\sum_{i=1}^{\infty} |\beta_i| \left( \sup_{s \in [0,t]} |z(s)| \right).$$

$$(3.8)$$

Thus,  $K_t$  is a bounded linear map.

Define  $K_1 : \mathbf{C}_{\sigma}(-\infty, 0] \to \mathbf{C}_{\sigma}(-\infty, 0]$  as  $[K_1\phi](\theta) = \phi(0)$  for all  $\theta \in (-\infty, 0]$ . It is clear that  $K_1$  is compact. Define  $B_t : \mathbf{C}_{\sigma}(-\infty, 0] \to \mathbf{C}[0, t]$  as  $B_t\phi = z$ , where z is the restriction of y to [0, t]. From (3.1),  $B_t$  is a bounded linear map. Let  $S_t$  be as in (3.3). Then,

$$S_t = V_t + K_t B_t + K_1. (3.9)$$

Now, if *I* is the identity on  $C_{\sigma}(-\infty, 0]$  and  $J : C_{\sigma,0}(-\infty, 0] \rightarrow C_{\sigma}(-\infty, 0]$  is the inclusion map, then  $V_t = JT_t(I - K_1)$ , and, finally,

$$S_t = JT_t(I - K_1) + K_t B_t + K_1.$$
(3.10)

Next, we show that  $B_t$  is, in fact, a compact map. Let x be the solution to (1.1) as in Theorem 3.1:

$$z(s) = e^{as}\phi(0) + e^{as} \int_0^s e^{-a\eta} \sum_{i=1}^\infty b_i x(\eta - \tau_i) d\eta, \quad s \in [0, t].$$
(3.11)

Thus,

$$z'(s) = az(s) + \sum_{i=1}^{\infty} b_i x(s - \tau_i).$$
(3.12)

Consider  $n \in \mathbb{N}$  such that  $t \in [n\tau_1, (n+1)\tau_1]$ . From (3.1) and (3.11), we obtain existence of  $c_1(t) \ge 0$  such that

$$\sup_{s \in [0,t]} |z'(s)| \le c_1(t) \|\phi\|_{\sigma}.$$
(3.13)

Hence by Arzela-Ascoli theorem,  $B_t$  is a compact operator.

It is easy to show that  $|J|_{\alpha} \le ||J||_{\sigma} = 1$ . By the compactness of  $K_1$  and  $B_t$ ,  $|I - K_1|_{\alpha} = 1$  and  $|K_t B_t|_{\alpha} = |K_1|_{\alpha} = 0$ . Thus, from the relation

$$S_t = JT_t(I - K_1) + K_t B_t + K_1, (3.14)$$

$$|S_t|_{\alpha} \le |T_t|_{\alpha} \le \|T_t\|_{\alpha} \le \gamma^{-[t/\tau_1]}.$$
(3.15)

So,

$$\omega_{\rm ess} = \lim_{t \to \infty} \frac{1}{t} \ln(|S_t|_{\alpha}) \le -\ln\frac{\gamma}{\tau_1}.$$
(3.16)

Let  $0 \neq \lambda \in \rho(A)$ . There is a unique  $\psi \in D(A)$  such that

$$\lambda \psi - \psi' = -1,$$
  

$$\psi'(0) = a\psi(0) + \sum_{i=1}^{\infty} b_i \psi(-\tau_i).$$
(3.17)

It is clear that there is  $c \in \mathbf{C}$  such that  $\psi(\theta) = (c - 1/\lambda)e^{\lambda\theta} - 1/\lambda$ . Now, we claim that  $c \neq 1/\lambda$ . If  $c = 1/\lambda$ , then  $\psi(\theta) = -1/\lambda$  for all  $\theta \in (-\infty, 0]$ . Since  $\psi \in D(A)$ , we must have  $\psi'(0) = -1/\lambda$ .  $a\psi(0) + \sum_{i=1}^{\infty} b_i \psi(-\tau_i)$ . But this would imply that  $a + \sum_{i=1}^{\infty} b_i = 0$  which is a contradiction, to the hypothesis that  $a + \sum_{i=1}^{\infty} b_i \neq 0$ . Now, since  $c - 1/\lambda \neq 0$ , it is obvious that  $e_{\lambda} \in \mathbf{C}_{\sigma}(-\infty, 0]$ . But this implies that  $\Re(\lambda) > -\ln(\gamma)/\tau_1$ . If  $0 \in \rho(A)$ , the condition  $\Re(\lambda) > -\ln(\gamma)/\tau_1$  is obvious. Thus,

$$\rho(A) \subseteq \left\{ \lambda : \Re(\lambda) > -\frac{\ln(\gamma)}{\tau_1} \right\}.$$
(3.18)

We now infer that  $\{\lambda : \Re(\lambda) \leq -\ln(\gamma)/\tau_1\} \subseteq \operatorname{spec}(A)$ . Next, if  $\lambda = a + \sum_{i=1}^{\infty} b_i e^{-\lambda \tau_i}$ , and  $\Re(\lambda) > -\ln(\gamma)/\tau_1$ , then  $e_{\lambda} \in \mathbf{C}_{\sigma}(-\infty, 0]$  and hence  $e_{\lambda} \in \mathbf{D}(A)$  with  $\lambda e_{\lambda} = Ae_{\lambda}$ . Thus,  $\lambda \in \operatorname{spec}(A)$ . So,

$$\left\{\lambda: \Re(\lambda) > -\frac{\ln(\gamma)}{\tau_1}, \ \lambda = a + \sum_{i=1}^{\infty} b_i e^{-\lambda \tau_i}\right\} \subseteq \operatorname{spec}(A).$$
(3.19)

Let us assume that  $\Re(\lambda) > -\ln(\gamma)/\tau_1$  and  $\lambda \neq a + \sum_{i=1}^{\infty} b_i e^{-\lambda \tau_i}$ . Then, by Proposition 2.1, we have  $e_{\lambda} \in \mathbf{C}_{\sigma}(-\infty, 0]$  and the function *h* defined as  $h(\theta) = 0$ 

 $\int_{0}^{\theta} e^{\lambda(\theta-\xi)} f(\xi) d\xi \text{ is in } \mathbf{C}_{\sigma}(-\infty,0].$ Defining  $\Lambda : \mathbf{C}_{\sigma}(-\infty,0] \to \mathbf{C}$  as  $\Lambda(\phi) = a\phi(0) + \sum_{i=1}^{\infty} b_{i}\phi(-\tau_{i})$  and taking  $c = (\Lambda(h) - f(0))/(\Lambda(e_{\lambda}) - \lambda)$ , we find that  $\phi$  defined as  $\phi(\theta) = \int_{0}^{\theta} e^{\lambda(\theta-\xi)} f(\xi) d\xi + ce^{\lambda\theta}$  is  $(\lambda I - A)^{-1}(f)$ . Thus,

$$\left\{\lambda: \Re(\lambda) > -\frac{\ln(\gamma)}{\tau_1}, \ \lambda \neq a + \sum_{i=1}^{\infty} b_i e^{-\lambda \tau_i}\right\} \subseteq \rho(A).$$
(3.20)

From (3.18), (3.19), and (3.20), we finally conclude that

$$\operatorname{spec}(A) = \left\{ \lambda : \Re(\lambda) \le -\frac{\ln(\gamma)}{\tau_1} \right\} \cup \left\{ \lambda : \Re(\lambda) > -\frac{\ln(\gamma)}{\tau_1}, \lambda = a + \sum_{i=1}^{\infty} b_i e^{-\lambda \tau_i} \right\},$$
(3.21)

or

$$\rho(A) = \left\{ \lambda : \Re(\lambda) > -\frac{\ln(\gamma)}{\tau_1}, \ \lambda \neq a + \sum_{i=1}^{\infty} b_i e^{-\lambda \tau_i} \right\}.$$
(3.22)

Since  $\omega_0 = \max\{s(A), \omega_{ess}\} \le \max\{-\mu_1, -\ln(\gamma)/\tau_1\}$ , the result follows.

Remark 3.3. Consider the PDE:

$$\frac{\partial u}{\partial t} = \frac{\partial u}{\partial \theta},$$

$$u(0,\theta) = \phi(\theta).$$
(3.23)

Let *B* be as in Proposition 2.1 and *A* be as in Theorem 3.1. For  $\phi \in D(B)$ ,  $u(t,\theta) = T_t \phi \in C_{\sigma,0}(-\infty,0]$  is the solution to the above PDE. For  $\phi \in D(A)$ ,  $u(t,\theta) = S_t \phi \in C_{\sigma}(-\infty,0]$  is the solution to the above PDE. For the first solution  $u(t + \theta) = 0$ ,  $t + \theta \ge 0$  and for the second solution  $u(t + \theta) = x(t + \theta)$ ,  $t + \theta \ge 0$ . Here *x* is the solution to the delay equation.

#### Acknowledgment

D. Piriadarshani would like to thank Professor B. Praba, Department of Mathematics, SSN College of Engineering, Kalavakkam, Tamil Nadu, India, for the support and advice received from her as a Cosupervisor.

#### References

- J. K. Hale and J. Kato, "Phase space for retarded equations with infinite delay," *Funkcialaj Ekvacioj*, vol. 21, no. 1, pp. 11–41, 1978.
- J. Kato, "Stability problem in functional differential equations with infinite delay," Funkcialaj Ekvacioj, vol. 21, no. 1, pp. 63–80, 1978.
- [3] F. V. Atkinson and J. R. Haddock, "On determining phase spaces for functional-differential equations," *Funkcialaj Ekvacioj*, vol. 31, no. 3, pp. 331–347, 1988.
- [4] Y. Hino, S. Murakami, and T. Naito, *Functional-Differential Equations with Infinite Delay*, vol. 1473, Springer, Berlin, Germany, 1991.
- [5] J. K. Hale and S. M. Verduyn Lunel, Introduction to Functional-Differential Equations, vol. 99, Springer, New York, NY, USA, 1993.
- [6] J. R. Haddock, M. N. Nkashama, and J. H. Wu, "Asymptotic constancy for linear neutral Volterra integrodifferential equations," *The Tohoku Mathematical Journal*, vol. 41, no. 4, pp. 689–710, 1989.
- [7] M. De la Sen, "Sufficiency-type stability and stabilization criteria for linear time-invariant systems with constant point delays," Acta Applicandae Mathematicae, vol. 83, no. 3, pp. 235–256, 2004.
- [8] X. Liu, S. Zhong, and X. Ding, "Robust exponential stability of impulsive switched systems with switching delays: a razumikhin approach," *Communications in Nonlinear Science and Numerical Simulation*, vol. 17, no. 4, pp. 1805–1812, 2012.

- [9] R. Datko, "Remarks concerning the asymptotic stability and stabilization of linear delay differential equations," *Journal of Mathematical Analysis and Applications*, vol. 111, no. 2, pp. 571–584, 1985.
- [10] T. Sengadir, "Discretisation of an infinite delay equation," Mathematics of Computation, vol. 76, no. 258, pp. 777–793, 2007.
- [11] D. Piriadarshani and T. Sengadir, "Numerical solution of a neutral differential equation with infinite delay," *Differential Equations and Dynamical Systems*, vol. 20, no. 1, pp. 17–34, 2012.
- [12] O. Diekmann, S. A. van Gils, S. M. Verduyn Lunel, and H.-O. Walther, *Delay Equations*, vol. 110, Springer, New York, NY, USA, 1995.



Advances in **Operations Research** 

**The Scientific** 

World Journal





Mathematical Problems in Engineering

Hindawi

Submit your manuscripts at http://www.hindawi.com



Algebra



Journal of Probability and Statistics



International Journal of Differential Equations





International Journal of Combinatorics

Complex Analysis











Journal of Function Spaces



Abstract and Applied Analysis





Discrete Dynamics in Nature and Society